General instructions for Students: Whatever be the notes provided, everything must be copied in the Maths
copy and then do the HOMEWORK in the same copy.

5(c) Inthe figure, find the valuesof x and y. &
Solution: ABCD is arhombus
AD=AB = 4x—-4=3x+2
= 4x—-3x=2+4 = x=6 Ans.
AD = AB A 3x+2 B
~ £ABD = LADB [angles opp. equal sides are equal] ... ... ...... (i)
In A ABD, ¢tA+ £ABD + £ADB =180° [ Angle sum propertyof atriangle ]
= 60°+ 2ABD + £ABD = 180° [Using (i) ]
= 2 £ABD = 180° — 60°
= 2ABD = 60° = 2ADB
A ABD is an equilateraltriangle. - AB = BD = AD
AB = BD = 3x+2=y-1
= 36)+2=y—-1 [x=6]
= 18+2=y-1
= 20=y-1
= y =21 Ans.

8 (a) In figure, ABCD is atrapezium. find the valuesof x and y.

Solution: +A+ 242D =180° [AB | DC, sumof co—int. £s = 180°] C
=  Xx+20°+2x+ 10° = 180° g2
= 3x+30°=180°

Y.
= 3x=150°
B

= x=50° Ans.
2B+ 2C=180° [ sumofco—int. £s =180°]

= y +92° = 180°



= y =180°— 92°=88° Ans.

9(ii) If the angle of a quadrilateral are equal ,prove that it is a rectangle.

Solution: Letthe angles of a quadrilateral be x. \ X
According to the question, x+x+x+x=360° [Angles sum prop.of : quadrilateral)] B
= 4x=360°
= x=90°
So,all angles of a quadrilateralis 90°
Hence, itisarectangle. Proved.
9(iv) Prove that everydiagonal of a rhombus bisects the angles at the vertices.
Solution: ABCD is arhombus, AC is adiagonal.
AB =BC = /BAC = +BCA [angles opp.equal sides areequal]...... )]
AD || BC and AC is atransversal
2DCA =2 BAC [alt.int. £s ]............... QD)
From (i) and (ii), 2 DCA = 2BCA
AC bisects 2C
Similarly, BD bisects +B aswell as +D. Proved.
HOMEWORK

EXERCISE — 13.1
QUESTION NUMBERS : 2, 4(a), (c), 5(b), 6, 7(b), 8(b), 9(iii) and 10
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